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BUSINESS ECONOMICS

Paper 1
(MCQ + Theory)
(Saturday, 30-3-2019) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. .— (@) Solve question No. 1 on OMR sheet and First half an hour is

for this question.
(ii) Question No. 1 is compulsory.
(iit) All questions carry equal marks.

(lv) Negative marks are for wrong answers.

(@) YT % 1 B OMR sheet IR Hrgan 701 epddr dfgen 216 a9 9@
3R,

(i) T w1 AHEAE R
(i) HE YA FHHE O 3R
(iv) ~ Iehr=al S RUMHS U1 faed S,

MCQ 10
1. Multiple Choice Questions :
IR T
1) Business economics helps managers in ................... .
(A)  Decision-making (B) Planning
(C) ~ Minimise Cost (D)  All of these
OIS AU HICATRM HIMAGS] TG Hd  ?
(A) Tl Bm (B) frEsH =
(C) T wHH HO (D) TR e
P.T.O.
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The word ‘Micro’ is derived from Greek word :

(A) Makros (B)  Mikros

(C) Markos (D) All of these
‘Micro’ & ¥ a1 ek IR o s g
(A) Makros (B)  Mikros

(C)  Markos (D) Yt wE

Point elasticity method is calculated with :

_ % change in demand

A
&) % change in price
% change in demand
B) = s
% change in income
© = Lower segment of the demand curve below the given point
~ Upper segment of the demand curve above the given point
h od
D) - = % change in income

" % change in demand

h o (a) o (a N ha¥ ¥
1%@ ddidendl H&dld cddidend] Ciclicidenl hlUicdl A1 enledld ?

_qrrrUﬁ?ﬁa‘\ﬁwam

(A) o~ a A N
feRTdidicl YRel agd
% AW Yehel sed
S Skl Sed
& AN eheria focedn foguA @reren 9m
Tl ST Tt fogureE e W
S Jhel T8
(D)
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Y
D
Price D
X
O Demand
Above diagram indicates .................... price elasticity of demand.
(A)  Perfectly elasticity (B)  Perfectly inelasticity

(C)  Relatively elasticity (D)  Unitary elasticity

J
[EX:K kil El

A HIToft N
TS STl AT oo fpd orafeehdr <giferd.
(A)  Hyol wafeehar (B) HYvl eTerafaehdl
(C) 9y eafaehd (D) TUeheh wAraehdl

If 5% change income results in 15% change in demand, the income
elasticity is .............ccoeeees -

(A 1.3 B 12

(C) 3 D) 2

SR IAAAA 5% FIeAHed ANV 15% d&d Bid 3T9d T 3cd—=1 oial dehd]
................... Wﬁ

(A 1.3 B 12

) 3 (D)

P.T.O.
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Production Function refers to ....................... .

(A) Relationship between output and cost

(B)  Relationship between input and output

(C)  Relationship between employer and employee

(D) All of the above

SCWQ"I Hol L'6U|\;| ...................
(A) UM 9 Td IMEA HaY

(B) MM 9 YSHIdal HaY

(C) ot d i dale
(D) =Rt wd
Which of the following is not internal economics ?

(A) Managerial economics (B) Technical economics

(C) Banking facilities (D)  Risk bearing capacity
EATAh] ShIUCl STavid st et 2

(A)  FEEATHRE T (B) Ak =it

(C) AfyehIooT Flaen (D) €T Yeh{UME! &Il

Which of the following statements is true ?

(A)  Two ISO curves never intersect each other
(B) ISO curve is concave

(C)  ISO curve slops upward

(D) All of the above

TRt IV fauH w& o ?

(A) TH GUIN 9% UHHSH HEE ©ed Aea

(B) HHI Wk § e ST

(C) HHIT 9% § ded SUR 3THad

(D) e e
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9) Total cost divided by number of unit produced is ................... {

(A) Total cost (B) Marginal cost
(C) Average cost (D)  Fixed cost
W -@%f cq-l-ﬁ-la- I{cth| \")('L”ia\'l T %Ul\;l ...................
A) TR T (B) foma ==
C) T TH (D)  fer ==
(10) Total fixed cost + Total variable cost = ............... .
(A) Variable cost (B)  Total cost
(C) Fixed cost (D) Average cost
T R TE o+ THRT gEed W =
(A) wRAd @ (B) THU w©H
(C) fer == D) W ==
Theory
Define Business Economics and explain the characteristics of business
economics. 10
a0 AR e afiey TR .
Or
(fenam)

What is Elasticity of Demand ? Explain the importance of elasticity of
Demand.

AN Sefaehdl WU %@ ? O WA AFTUie defdehdd Hed T .
What is production function ? Explain the Law of Returns to Scale. 10
3R e RUN @ 2 d 9TH Y FH e s &L
Or
(fenam)
Explain the different types of cost.
T fafay g ww 1.

P.T.O.
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4, Write short notes on (any fwo) : 10

@) Internal Economies

(1) Price Elasticity

(zit)  Scope of Business Economics

(v)  Objectives of Business Firm.

e fewr fagr (HIEE FR)

@) Sfavid s

@)  Toma aataend

(i) — AEEE AT St

(Gv) FETIS G 3fEsel.
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